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Q.1 (8 Points)
In a binary baseband system, the shown signals are used. Find the
average energies and the correlation coefficient (levels are +1).
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4 Draw the matched filter receiver block diagram for these signals.
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Q.2 (10 Points)

1- Compare the average energy of a 16 16 PSK and a 16 QAM constellations
if d,,;,=2 and data rate of 64kbps Ys & kl??s N —_
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2- Draw and label (in binary) an 8 PAM signal constellation.

3- Find the required channel BW if the bit rate is 48kbps? .o v, f;@;
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Q.3 (8 Points) ABET Question_~» "% RW

It is required to transmit a 64kbps binary data through a“ZOKHz channel using
a base-band sygtem.signal constellation, write the expression for
the transmitted signal and draw the transmitter and the coherent receiver block

diagrams, B -
agrams AT Bw- 20 lcHz
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1. | In band limited transmission, th%‘re/quired channel bandwidth | T
depends only on data rate.

3. | Matched filter limits the noise bandwidth.

®
2. | Raised cosine filter is used to limit the signal bandwidth. @ il
Olgl

4. | ISI'happens when the signal BW less than the channel BW.




